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Third Semester B.E. Degree Examination, Dec.2019/Jafi.2020
Additional Mathematics - |

Time: 3 hrs. Maxgdarks: 100
4 Note: Answer any FIVE full questions, choaesing ONE full ques: h module.
g
_E_ Module-1
g 1 a. FExpress the following complex number in the form of x (06 Marks)
2
3 cosB+ismn 6 b3
ﬂ, - b. Prove that (sin ¥ Lmﬁ] =cos80 +isin 80, (07 Marks)
2= - -+ » g
_'E ;: ¢ If a=(3-1,4), b=(},23) and ¢ =(4.2,-1). fin A (07 Marks)
.E g
32 :'? 2 a. Find the angle between the vectors, & b=2 —3]’ +6k . (06 Marks)
gg b. Prove that [ax b.bx -:,cx;:[= a,B (07 Marks)
-_é 'é c. Find the fourth roots of —1-1 resent them on the argand diagram, (07 Marks)
38
EI] -
) E 3 a. Obtain the Maclaurin’ (06 Marks)
B e
£: . If u=sin (07 Marks)
22
g % c. Ifu=x(l-y), (07 Marks)
i g
z 3 :
E E 4 a. Obtain aclau series expansion of the function log, secx . (06 Marks)
B &(u, v)
] + f- d TR T | i
- En y fin 2(x.y) (07 Marks)
G =
= ﬂ o it ﬂ E.I'.I. .-qu.t_ =
55 z,2z x).|:mwtl1ﬂax+6y+az 0. (07 Marks)
5% L . Meodule-3
I Find velocity and acceleration of a particle moves along the curve,
% %:'2‘§+2c055ﬁ+551ﬂ2ﬂ:: at any time t. (06 Marks)
=
E Find divF and curlF , where F = V(x* +y’ +2° - 3xyz). (07 Marks)
g

c.” Show that F=(2xy+2z2)i+(x?+2yz)j+(y?+2x2)k is conservative force ficld and find
the scalar potential. (07 Ma-ks)
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OR

irrotational.

Module-4

o i |

7 a. Find the reduction formu a for |sin” xdx. ~ (06 Marks)
13
b. Evaluate J.jx yldxdy. (07 Marks)
o0
a1
¢. Evaluate I f _f (x +y+z)dzdxdy . {07 Marks)
0nan
{’ -
8 a  Evaluate: Isin "(3x)dx . (06 Mks)
L]
b. Evaluate : I Ixy dvdx . (07 Marks)
0 x
1 =g Joati—y
¢. Evaluate : II I X (07 Marks)
0o i
Module-5
9 a - cot In X . (06 Marks)
b. "y+3)clx—(x’y+2x)d}r=0. (07 Marks)
c. y (:-L” ~ 3xy mzf}:lx =0. (07 Marks)
OR
+3x%y? = 2xy Jx +(2x%y - 3x%y? —Sy‘}lyzﬂ. (06 Marks)
g£+xsﬁ12y=xicnszy, {07 Marks)
- g::-lv:: [!+{x+j-,r]tan y]-gi—'kl:t}. (07 Marks)
X
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